/ & |@) Enectue les mutiiplications suivantes sans les poser

24x10= _24. 35,8 x100 =3280 60,25x1000 = 60250
4A4x10= G4 509 x100=009 | 4,142 x1000= 4142
004x10=04_ | 4258x100=4258 | 11,11 x1000= 11110

025x10= 2.5 11,05x100=1105 | 0,12x1000=120.
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28,1 -10= 2.81 100,45 - 100 = 1.004p 3240.4- 1000= 3.2404
2,14-10= 0.214 | 112.8:100=1.128 | 5779.25-1000=5.77925
99,9 :10=9.99. 30,21 : 100=0.3012| 5002 - 1000=0.5002

300,2-10=30.02 1,02-100=0.0102| 33.84-1000=0.033B4
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/4 o Compléte les opérations suivantes

459 x 10=459 0,254 x1008 254 7512-100=75,12 34,4:10.=3.44

0.33x100= 33 7.3x 106 730 25:10.= 25 2600:- 106 2.4





